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About Joint initiative: :

Cropper Foundation, . Technology/Application
NAMDEVCO, IICA. i Digital mobile phone application that facilitates

i traceability and production and financial recordkeeping,
Joint efforts aimed at improving the lives of i thereby contributing to more efficient and sustainable

Trinidadian farmers, through the incorporation of
digital technology. It is funded by the innovation
laboratory of the Inter-American Development
Bank Group (IDB Lab).

\ agricultural management. It focuses on small-

+ scale farmers, seeking to provide resources and

build capacities to boost profitability, environmental
sustainability and socioeconomic equality in agriculture.

N

Features of the inclusive technology solution

The application allows farmers and organizations to:

Access electronic platforms to document Analyze data to foster Make calculations, record data and
and record planting and reaping dates, evidence-based undertake long-term tracking of trends,
inputs used, costs and sales. decision-making. without the need for an internet connection.

Results and scope
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#=h producers are using and Trinidad & Application tested with
benefitting from the application Tobago farmers in 2021.

Inclusive features
Associativity. More information

https://includas.gfar.net/sites/default/files/2022-07/Experiencias%20
seleccionadas.pdf#page=40
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Functions without an internet connection.
Participatory technology design.
Pilot studies and support. App

https://play.google.com/store/apps/details?id=com.raziel619.gaptt_mobile
https://apps.apple.com/us/app/good-agricultural-practices/
id1569043989?ign-mpt=u0%3D4
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